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Central Railway
Electrical Department
Written Examination

partmental Competitive E inati
. Xamination (LDC
For AEEE (30% Group-B) ( K
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- 15-04-2017
Total Marks 150 Time 3 Hrs.
Paper-i
. Candidates sh ”
b e e oub!d go through the”INSTRUCTIONS FOR CANDIDATES" attached
er book before commencement of the exam.
are 150 and the time is 3 hours.
AL ldate-has answered the questions in excess of the required
e OF questions, 'the marks awarded against the requisite number of
questions Attempted First will be included in the Total Marks Obtained and
rest will be ignored.
Candidate shall not write his name, Roll No., or signature or any other
identification mark anywhere inside the Answer Sheet and Extra Sheet except
on the sheet at the space provided.

. Questions can be answered in English or Hindi. In case of discrepancy in

Hindi question, English version shall be followed.

Ensure signature of invigilator/Officer in-charge on the answer book and also
on the extra sheet, if any. _
Partial correct answer, cutting, overwriting, multiple answers or correction
will make the answer invalid for allotment of marks in the objective type of
question. )
Bags/Books/Notes/Mobile phone/Calculator etc. are not allowed in the
examination hall.

Attempt all 5 questions of Part-A. Each question is of 10 marks.

]b.Attempt 5 questions out of 7, from Part-B. Each question is of 20 marks.

Part-A Total Marks 50

T

Write the full forms of: 10

(a) UNDP (b) PNM (c) NSDL (d) NAIR (e) MRVC

(H UPSC (g0 VAT (h) GDP (i) FOIS ()TQM

(a)A train running at a speed of 48 Kmph starts coasting and reaches_a 5
speed of 24 Kmph after one minute. What is the distance travelled in

one minute?

(b)A work requires 4 workers to work 8 hours to complete a job in 30 5
days. If work is required to be completed in 15 days and the workers
have agreed to work for 16 hours per day, how many workers will be

required? J

Write the names of the authors of the below mentioned books:

(i) War & Peace (ii) Wings of Fire (iii) Coolie
(iv) A passage to India (v) Old man and the sea
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K |__20
z) Explzin “Form factor’, “Peak value” , "Average Value” , “RMS 10
szlue” z2nd “Frequency” with reference to AC sinusoidal supply
(b) What are the different speed control measures adopted to 10
control the speed of Induction motors?
[ 2 20
| ; (z) V/hat do you understand by Energy conservation. Write the 10
| measures being adopted in Railways to conserve electric
| f energy. What other measures can be adopted?
| |
( { (b) What fire prevention measures are being adopted in railways for 10
i } Electric locos or EMUs or Sub-stations?
[3 ] 20
{a) What is meant by SEC? What parameters are being monitored to 10
improve SEC in Railways?
I ] (b) Write down the main provisions of Indian Electricity Act. 10
14| 20
(@) A 3 phase induction motor runs at 280 rpm at full load when 10
connected to 50 Hz AC supply. Calculate slip and the number

. §. g
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Calculate electricity bill per year If rate per unit 14 R4/

(b) A railway station hi
ay ¢ as 240 o '
connected load: SR eRER R SIS
C - " - =
gg)) .3,8 :‘lll'll)ﬁ of 6O Watt cach working 8 hours per day
( Jamps of 100 Watt cach worldng # hours per day
° r]j'll\;l»lmp of 10 KW with 90% clficiency worklng % hours per

(b) Answer the f'ailowln(]:

(a) What are the various provisions of IRSOD  applicable to
electrification of new lines and existing Hnes/?

(i) Three 6 ohm resistors are connected to form a triangle.

What is the resistance between two corners?

(i) A light bulb draws 200 mA when  voltage  across s
230V.What is the resistance in ohm of the Hight bulb?

(i) What will be the number of poles in 1500 rpm synchronous
motor at 50 Hz?

(iv) How_njglrly_lzytgg_ay';(ﬁ there in | Kb? |
ermost orbit of carbon

(v) How many electrons are there in out
atom?

) __ Which is the bost conductor of electricity:
(a) lron (b) Copper (c) Silver (d) Carbon

(vi) _ Rating of fuse is always expressed in:
(@) Ampere (b) KVA (c) KW (d) Ampere Hour

Attempt any two of the following:
(i) Causes for pump failure and remedies
(ii) Causes for Panto entanglement

(iii) Causes for low power factor in a workshop

(iv) Measures to reduce electricity bill of a Railway station

(9

10

20
10

10

gions India has been divided as per the official

(a) In how manyure
Name two states in each region.

language rules?

(b) What are various incentives for propagating use of Hindi in

Central Govt. Offices?

Which are three main examinations for acquiring working

(c)

knowledge (sdloranin Hindi for railway staff? Elaborate.
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Ceptml Railway
E\.I\t’arcitttncalut)eparunent
e en Examination
Departn;ental Competitive Examination (LDCE)
Oor AEEE (309 Group-B)

15-04-2017

Total Marks 150 ,
Paper-1| Time 3 Hrs,
Candidates sho
with the ansvverut!g ?(0 through the'INSTRUCTIONS FOR CANDIDATES" attached
Total mark ok before Commencement of the exam
' If an i Zgre 150 and the time is 3 hours )
ny candi X g
. ate has answered the questions in excess of the required

number of asti :
questions, the marks awarded against the requisite number of

questions Attempted First will be | 2d i '
vestwill Bedanm € included in the Total Marks Obtained and

- Candidate shall not write his name, Roll No., or signature or any other

identification mark anywhere inside the Answer Sheet and Extra Sheet except
on the sheet at the space provided.

degtrons can be answered in English or Hindi. In case of discrepancy in
Hindi question, English version shall be followed.

Ensure signature of vigilator/Officer in-charge on the answer book and also
on the extra sheet, if any.

Ps_lrtaal correct answer, cutting, overwriting, multiple answers or correction
will make the answer invalid for allotment of marks in the objective type of
question.

Bags/Books/Notes/Mobile phone/Calculator etc. are not allowed in the
examination hall.

Attempt 4 questionsout of 6 from Part-A. Each question is of 30 marks.

9.
10.Attempt 2 questions out of 3from Part-8. Each question is of 15 marks.
Part-A Total Marks 120

[ (@) Explain the concept of “FRPCPY" , "MTBF" and “Type Defects". 151l

How will you use these concepts for identifying the pattern of
failures and their prevention?

(b) What is the role played by SMIs/ Mis, modification sheets and 15
Technical reports issued by RDSO for improving reliability?

Explain with suitable examples.

(@) Draw tractive effort - speed curves of WAG 7 loco. Explain. 15
OR
List important protective relays provided in AC EMUs and the

functions thereof .
OR

List important protective relays provided in a sub-station and
the functions thereof

(b) Explain philosophy behind “must-change-items”. List important
must-change items in POH of a conventional electric loco or AC

EMU rake or AC Coach

1} 5]
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What are the duties an
@ or AEE/TRD or AEE/G. HO

effective?

(b) What are the various pre-su
for electric loco or EM

-monsoon precautiq
mer and pre-m ns
U or TrED installations or TL/AC Coaches?

(@) Why outsourcing of
' a

necessary. List out d
maintenance of electric loco or

assets?

. tivities has becom
aintenance ac o
t?\;]ities which can be outsourced for
¢ EMU or TRD assets or TL/AC

into regulated OHE ? of

12000 HP locomotives. What is meant by
pantograph.

CR

electric EMUs. How these have been overcome?

5 Write short notes on any five:

(a) Steps to prevent stalling of goods trains
(b) Training of AC coach escorting staff

(c) Drop - pit for EMU bogie maintenance
| (d) Crew link and loco link

| () PTFE Neutral Section Maintenance
(9) Power procurement through open access
(h) Pre-cooling of AC coaches

Write short notes on any five:

pecifi gy consumgtion
(c) Long haul Operations
(d) Brake - bindin : -
(o) Panto entanglemagr ——
——— O Meintenance oy perr——

—

Why railways is going for manufacture of high Horse Power

hlgh reach

What problems have been experienced in maintaining SIEMENS

aQ

(e) Measures to avoid SPAD cases

—
3 sponsibilities of the post of AEE/TRS

w these posts can be made Morg

WA

/

/]

version was carried oyt onl—
t DC to 25 KV AC con
® ;\Anlzrn;:iogi\\//g:on. Is it necessary to convert unregulated OHE
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Total Marks 30

—_—
—_—

r)'p\

(a) What are various minor |

15 |

minor penalty, Penalties? Write procedure of imposing \

5

(b) What is a stock item? What is the |
as stock item? .

procedure for making an item \ 5 \

() What are various b .
udgetary review
expenditure. Y stages for control of

Write short notes on any three

(@) Hours of employment regulations

(b) Cannons of financial propriety

(c) Payment of wages act

(d) Stock verification

(e) Cash Imprest

Write short notes on any three

“(a) Eligibility conditions in a works contract

N
— ————]
JE—

(b) M & P programme stages

() RTIAct - _
~ (d) Important checks before passing works contract bill

(e) Role of PNM in industrial relations
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